X5 P—EIAR RITRE REERE
FLE FYRIILIZ 1,870M 2,035
TIORILR—2 w7 HD 4,840MH 5,005H
TYRILTLIT L 6,710 6,875M
TYRAR=2y 7HD (REBE) 4,290 4,455
FTYRNTLIT L (KRR 5,830/ 5,995
FORIILE YT 5,830H 5,995H
TIORIIR—= 4,730H 4,895H
TRILTA b 2,530H 2,695H
TYRNTANTTR TN 2,530M 2,695
TUERNTANT TR NV % 2,530H 2,695
TYOERNTANT TR Ta—-Vv Y 2,530H 2,695H
TYRNTANTTRHRZ2—R 2,530M 2,695
TYRALTANTTABHAZ L —X 2,530H 2,695
TYEILTANTTRATBS 2,530H 2,695H
TYEALTIANTTATBSZa—2X 2,530 2,695H
TYENLTANTTR KBS 2,530H 2,695H
TYRILTA T TR HARME 2,530H 2,695
TUEINLTA T TR ERE 2,530H 2,695M
TYRNTANTTZRTZRY IR 2,530 2,695M
TYRILTANTTRA FTLE 2,530M 2,695
T RIT A FEEBIHD DX 3,965H 4,130
T RILT A FEE DX 3,520H 3,685H
TYRILTA R REZ— DX 4,070 4,235
TYRILT A~ AR—"Y DX 3,300H 3,465H
T RILT A~ 7 NEXT DX 3,190H 3,355H
TYRIT A k7 ¥3ch DX 3,520 3,685M
TYRILTANTZADX 3,850MH 4,015H
TYRINT A NEEED X 3,410H 3,575H
TYEILTA T = DX 2,970H 3,135
TYRILTA LYy — DX 2,860MH 3,025H
TYEILTANTLAR—A DX 4,620H 4,785H
TYEILTA LA YR—F1F DX 4,840 5,005M
TYRILTA NTLAIILE— DX 5,170H 5,335
TYRILTA MILE— DX 4,620H 4,785H
TYRILTA LA viR— DX 4,400H 4,565H
TYEILTA NIy RFA DX 4,400MH 4,565
TYRILT A FEE) DX 3,850 4,015
TV RILT Ak RR—"2HD DX 3,300H 3,465H
TYEILTA FAR—=YHDE v k DX 4,384H 4,549
TYRILTA RTY—2HD DX 2,970 3,135
T &ILZ 4 kMnet DX 3,520 3,685
TYRILT A FEER DX 4,620H 4,785H
TV RILT A4 FKNTV DX 5,170MH 5,335
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X5 Y—EXRR RITRE REERE

Avx =3y b |TFA/X—F 4,378 4,543M
7Zv—-Eco 2,178H 2,343H
ECO7Z X 3,278H 3,443H
INT] — 4,730 4,895H
R—N—h—LRAS 6,050/ 6,215
A=R=<vaviA/ 5,170/ 5,335
Style mini 4,378M 4,543M
Style easy 4,730M 4,.895H
Style nero 5,830 5,995
Style Eco 3,278M 3,443M
NAxy b NY 32— 3,520H 3,685H
NAxy b Av—F 4,620/ 4,785M
RA 3y b EVERR 4,950 5,115M
NA gy b R—=/3— 7,040H 7,205H
77v-Biz 16,5004 16,6654
v 7Ly b 3M 2,090 2,255
7z b 30M 3,630 3,795H
vy Ixey k 160M R — A 5,830MH 5,995H
TN Exy b 160M v g v 4,950 5,115M
7 Eky b 30M (REFED) 3,190/ 3,355/
Y7z b 160M FR— L (REIED) 4,950 5,115
U TIEy k160M v 3> (REE) 4,070/ 4,235
NAxy bTAV LR 3,278H 3,443H
TLE+A v R— |84 /Xy XR—=2 v 7HD 10,450H 10,780H
v b BLNyy TLIT LA 12,100 12,430H
/ey A4 TLITLA 10,120 10,4504
/ey 74 R=2y JHD 8,470M 8,800M
BLANy 77412 5,830H 6,160
BLa/Ny T4 b TLIT LK 10,230 10,5604
BALANy 774k "= 7HDAK 8,580H 8,910
BLANy 774K 224K 5,940 6,270H
A= EL Ry T4 TLITLA 10,450 10,780H
A= ANy T4 b R=2 v IHD 8,800H 9,130H
A= LRy 7 TA k- 2= 6,160 6,490M
AR—F ELNy 7 TLIT LA 11,500 11,830H
AX— b FA /Ny RXR=2 v 7HD 9,900H 10,230H
AN/ il 6,380 6,710/
B4y 2= +BD 7,700H 8,030H
BL Ny 7 X—=>y 7HD 9,900 10,2304
Ba/Ny o TLIT LA 11,550 11,8804
AR—=FTLIT L 12,100 12,430
AX—bTL IT LIEE 11,000 11,330
Av—hTL I T L2EE] 9,900H 10,230H
AX— b7 I T LI3FEE 8,800 9,130M
ARX—bR=2 v 7 10,450H 10,780
AX—IR=2 w7 1FE 9,350H 9,680H
AR—hFR=2 vy 2 FZ 8,250M 8,580
ARX—hR—=2 v 7 3FEE| 7,150 7,480MH
Av—hIZ 7,370H 7,700H
Ax—FrIZ15FF 6,270 6,600
ARX—hFIZ2FF 5,390MH 5,720H
AXv—hFIZ3FE 4,950 5,280H




